
 

ISOLSBARRA 

 

630 - 6300 A 

 

ASSEMBLY I NSTRUCTI ONS -  LI NE 
 

1. Check if the posit ion of the equipment (e.g. t ransform er and panel)  m atches with the drawing of 

the I SOLSBARRA and check if the laying level of the busbar is the same shown in the drawing, 

both in vert ical and in horizontal posit ion;  

 

2. Fix the support  brackets, or what  required to the busbar suspension, with drillings suitable for 

the suspension clam ps we supply. Consider  that :  

a)  the opt imum distance between the two suspension clam ps (1)   is 1.5 – 2 meters;  

b)  the suspension clam ps and the relat ive support  brackets must  be at  a m inimal distance of 

300 mm  from  the junct ion of two elem ents;    

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

3. Considering the order of the joints, as shown in the drawing, choose the first  I SOLSBARRA 

elem ent  ( I .E. start ing from  the switch gear) , lift  it  on the level of laying and fix it  on the 

suspension clam ps without t ightening com pletely the grips (2) ;  

 

4. (To execute only if the line’s protect ion level is I P66) . I nsert  the therm o shrinking sleeves and at   

the end of the joint ing element and slip them over the insulat ing sheathing, before set t ing the 

next  elem ent . Som et im e it ’s possible to find the plate close to the joint  fastened with screws and 

not  with rivets:  this is m ade to allow to dism ount the plate and easily insert  the I P66 sleeve;   
 

5. Following the inst ruct ion points from  3 to 4, ident ify and set  the second I SOLSBARRA elem ent . 

Check that  the two term inals, fit  to play as joint ing parts (one with slot ted holes and the other 

with threaded bushes) :  

 are aligned to each other;  

 m atch with the posit ion of the joints on the drawing;  

 follow the same order. 

 

6. Go on m atching each bar with the supplied disk springs and screws without  screwing the screw 

t ill the end (See Schedule 1 for screw type) . I f the distance between the busbars isn’t  sufficient  

to insert  the screws, use a lever and enlarge tem porary the space between two bars.  

 

TABLE 1  

CONDUCTOR 

THI CKNESS 

GALVANI ZED 

SCREW 

STAI NLESS 

SCREW 
DESCRI PTI ON 

4 m m MV018 MV058 SCREW HEX.HEAD M10x16 

5 m m MV013 MV041 SCREW HEX.HEAD M10x20 

6 m m MV013 MV041 SCREW HEX.HEAD M10x20 

6,9 m m MV013 MV041 SCREW HEX.HEAD M10x20 

8 m m MV014 MV042 SCREW HEX.HEAD M10x25 

10 mm MV014 MV042 SCREW HEX.HEAD M10x25 

 

7. Repeat  these steps for every single I SOLSBARRA element that  com poses the line;  

1 Suspension clam ps 

2 Grips 

Rev 01  

 



 

ISOLSBARRA 

 

630 - 6300 A 

 

8. Check the installat ion of the prefabricated busbar m atches with the drawing. An adaptat ion is 

possible but  it  depends on the slot ted holes of the junct ion and on the suspension clam ps;   

 

9. Com plete the installat ion of the elect rical joints as shown below;  

 

 

(A) Thermoshrinking sleeve (IP66)

(B) Screws

(C) Up of cover joint

(D) Cover joint body

(E) Clips

(F) Clips seats

(G) Disk spring  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

     I P4 2  

1. Execute the elect r ical junct ions with screws (B)  and disk springs (G)  supplied as equipment 

using a torque wrench (60 Nm for Cu – 40 Nm  for Al) . 

2. I nsert  the cover joint  body (D)  checking that  interaxe of the joint  of bars correspond to the 

interaxe of the cover joint  body. 

3. I nsert  the cover (C)  in order to int roduce the clips (E)  in their seats (F)  so that  they are well 

fasten. 

 

     I P6 6  

1. I nsert  therm oshrinking sleeve (A)  on the bar before approaching the second junct ion 

elem ent . 

2. Execute the elect r ical junct ions with screws (B)  and disk springs (G)  supplied as equipment 

using a torque wrench (60 Nm for Cu – 40 Nm  for Al) . 

3. Slip the therm oshrinking sleeve (A)  over the junct ion and with warm-air heater ( from  150° C 

to 200° C) shrink it  unt il it  is com pletely adhesive to the line. I t ’s device the use of a warm -air 

heater with a therm ostat . 

4. I nsert  the cover joint  body (D)  checking that  interaxe of the joint  of bars correspond to the 

interaxe of the cover joint  body. 

5. I nsert  the cover (C)  in order to int roduce the clips (E)  in their seats (F)  so that  they are well 

fasten. 

 

Rev 01  

 



 

ISOLSBARRA 

 

630 - 6300 A 

 

 

 

10.  Tighten the screws of the suspension clam p grips (2)  up to 

20Nm , checking that , once the t ightening is com pleted, the 

grips are st ill convex, allowing thus the expansion of the 

line;  

 

 

 

  

 

 

 

 

11. Com plete the elect rical connect ion of all the unipolar elem ents of the busbar:  assem bly the two 

cont inuity elem ents of the lateral st ructures with flanged screws (4) . 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

I NSTRUCTI ONS FOR THE ANTI - SLI DI NG ELEMENT 
( ONLY FOR TERMI NAL HEADER W I TH PHASE CARRI ER OR PHASES ROTATI ON)  

 

A preassem bled ant i sliding elem ent  is provided for the term inal header with phase carrier or phases 

rotat ion without  elbows. This elem ent  prevents the m utual sliding of the conductors during the 

m ount ing. The operat ions for the m ount ing are the following:   

 

 

1. Posit ion the term inal header vert ically. 

  

2. Realize the connect ion with the subsequent  

I SOLSBARRA elem ent  as shown in the assem bly 

inst ruct ions from  point  1 to point  11.  

 

3. Rem ove the ant i sliding element . From  this point , 

the ant i sliding elem ent  is no longer useful.  

 

4. Connect  the conductors of the term inal header to 

the elect rical equipm ent  ( for instance switchgear, 

t ransform er, etc.) .  
          

 

     Exam ple of installat ion of an ant i sliding elem ent                     
  

 

Rev 01  

 



 

ISOLSBARRA 

 

630 - 6300 A 

 

After the installat ion, before set t ing the line at  work, verify that  the exit  of the conductors com pared 

to the flange (m easure “x” )  is the sam e as in the const ruct ion drawing. 
          

 

 

 

N L1 L2 L3N

Rev 01  

 


	ASSEMBLY INSTRUCTIONS - LINE
	INSTRUCTIONS FOR THE ANTI-SLIDING ELEMENT
	(ONLY FOR TERMINAL HEADER WITH PHASE CARRIER OR PHASES ROTATION)

